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Who is ‘some say’; Rabi Nechunyoh — N1772 929 23RN @Y INR

OVERVIEW

13 " said that that it is 73p7 32 X371 " who maintains that one who eats y2n1 of
WP on 1109 is not WIpPn2 Y (and is not responsible to pay a awR) ,wmn ,17p). The
reason is because 77"'217 maintains that we say 1n"2%p even by n73 (not only by nn»
7"2) so since there is a 75 2117 (for eating noo2 ynn) there is no PM>wn 210.

nvon asks:
= (x,9 Mama) IV 1IN WA z)WN YON 1‘]’5"1 INNDT PHNY 12929Y NN

The >'"'1 is astounded; for the one who expounds the w"m of 90K eX in the

beginning of N w1 K P70 -
= NN 299 ©MYYND 1N NIV DIV 2793 NI NYY N)

And therefore he maintains that according to 7"21% one who is liable for n»

2w 9793 is also exempt from monetary payments -
- DYNN N9 101D SNNIN NN NYIPN 1IN (x5 91 YAPY VINT 5399 19 BN

Therefore, according to °27 who maintains later that one who was w7p72 Yy
wantonly is liable for a»w 792 nn», why should the n9> 211 (for eating y»m
noo2) exempt him from »y>wn -
- “909 XY XN PPITYUNN NN VIO NNYYAT 2) Y N KD
For we see here that even though generally onw °721 nns2 exempts from
Pvvwn, nevertheless here by xwa 7%°vn it does not exempt -
- S25NN5 AWA 1A NID 9937 23 Y N 193 1570 XYY 2590 ANWAT RID |9 9934

! This refers to »ax who maintains that according to 71"217 we implement 1"2%p not only by a N3 27 (like eating on
2"v) but even by onw >7°2 in°n (like a 77 eating 717n). However X271 disagrees with »aX and maintains that even
according to 17"217 we implement n"2%p only by n15 but not by 2°»w *7°2 fnn.
% The 770 writes (2,3 [2°0own] Mnw) regarding one who caused a fetus to abort (by hitting the mother) that if &%)
nox 7 (if the mother does not die) the law is w1y w1y the perpetrator has to pay the value of the fetus. We derive
from this P05 that if 170X 77> (the mother dies) so there is a 7in°n 217 for the perpetrator, therefore there is no 211
PrY2wn; this is the source of n"2%p. According to *ax there is a w"rx of oKX NoOX for the 710 writes ( [ypr] nwr12
2,2n) that 2py* said regarding 1°2°12 that he is afraid 7772 1OR ¥R, so just as the word OR by P»°12 means any
type of 110K, even 0w *7°3, similarly the 1OR by the 7777 7wR means any type of 10X is exempt from m>wn.
? Nevertheless (even though there is a 2w *12 an 2rn for Tma 72°¥n) the (A1) Yy is required to pay, and we
do not say n"2%p by wp2 12°vn even though generally we do implement n"2%p by 2w *7°2 in*» (according to »ax).
This seemingly proves that there is no n"2%p by 772°vn (otherwise there would never be a 72°yn 7 since every 2vn
(7t2) is oW >7°2 nvh 2°°0). See following footnote # 4.
* The law of n"2%p is ‘extended’ that even if it was not done 7T (only »w2), where there is no actual 7n°»n 210
(either 72 nn°n or 2°»W *7°2 7N NI2), nevertheless the rule of »"2%p applies and even 3 w3 he is PPwNn Mo, See
following X113 27 i7" M2OIN.
> This question assumes that 7"217 (according to *ax, that there is »"2%p even by 0w *7°2 in"a) agrees with >27 (that
1

TosfosInEnglish.com



1’7 71"7 '0I10 X,0d 0°1od .7"'02

For the pop taught us that »wa 7%°vn is 2991 to pay awx) wmii 172, so the same
rule should apply to a case of n7> (like our case of eating no9a WP YW ynn where
there is a n7> 21’11 for eating nod2 y1n), that even though he is liable for n9> for

eating the 7532 vy, nevertheless for eating the amwa wipn he should be 297 for
T9°Yn a owRY wmin 1P, since there is (seemingly) no rule of n"2%p by 72>°vn.

Mo0IN answers:
= 99) DYMYNN NON NIV NDT RIP )7 99)T NNAT PNYY 13529 99IN)

And the >"'1 answered that regarding v"7°2 ins» where the 7710 revealed to us

that the n°n does not exempt here (by 72°v»n) from 32%wn, the 77N revealed

this (¥17°17) to us; however -
— %953 XY 99 N9 N99a

Regarding n9> where the 7710 did not reveal to us that there is an exemption

from 721%wn, it is not revealed and the ‘regular’ rules of n"2% apply; so if one ate 5w ynn
nooa wpn where there is a N> 21°1 (for y1n) there is no payment.

nooIN asks:
- 7\’))311'\1 199 o9vN MIYVa Nooa NAN DN YN (3,59 97) 1)3‘,75 AN NI 99NN ON)

And if you will say; but later the 7i1wn states, one (a non-372) who eats nman

y»r on nop inadvertently, pays the principal and a fifth -
- PRYYYNA 299051 7997 19598 PN 299 1Y 13917

And the X773 establishes this 71wn according to 77"219, and nevertheless (331202),

he is obligated to make the payments, the reason is (presumably) -
- %1990 NN 219N DIV PITYNN 09 RYT 9957 397 DIYN

72V 7 s W' ann am).
® The >"1 negates the previous assumption (see footnote # 3) that by 79°v» there is no rule of »"2%p under any
circumstances, but rather maintains that the exemption by 1°¥» from n"2%p is limited to a case of w"72 nnn
exclusively (where it was X7p °73), but not where there is N33 (or 7"2 nn*»). See ‘Thinking it over’ # 1.
7 The rule is that if a =7 eats 3w 72170 he pays the 3772 the principal plus a wmn (which actually means a fourth of
the principal, [for a hundred 17 worth of 2170 he must pay back a hundred twenty five 17]). The w17°n here is that
even though it is mo92 yni (where there is a N72 21°1); nevertheless he is required to pay. [One who eats ‘regular’
142 7100 1S DM 772 A0 270
8 See X,27; the X3 established this mawn according to 77"217 on account of the X9°0 where it states, 1 M2 7113
vy L pmbwnn.
? He is required to pay even though there is a n13 arn (for eating y»n on mo9), and 7"217 maintains n"2%p (even) by a
nA2 2rn.
12 Seemingly there should never be a 7wn arn for eating 77N (if we maintains that there is »"27p [according to
71"217] even by 2w *71°2 fn°y), for there is always a "2 i 210 for eating (7°T2) 7m17N; and since there is a 21
A1 Pm2wn this indicates that there is no n"2%p for a 77 eating 71N, This rule spills over that even if there is a 2170
n> for eating this 7m0 (he ate 102 ynn NnN), nevertheless there is a PM>wn 2.
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Because just like he is not exempt from payment on account of the 7n» 3vn

7w >72 for eating (regular) 772N -
- 1390 SY n99 DIV V9% XY 1) 9N

So too he is not exempt from payment because of the n95 2117 for eating y»m.

nv0IN answers:
= (xmwn 1 pa9) NN NHIVNI NIMTI 20n 1995 nNRnn 1NN mvunT PN 13929 99N

And the "1 answers that the payment of 772190 is on account of atonement (not

for payment) as is evident in ny19n noon -
= 2INNY 9199 19X INNRY 115 NYI ON )PNT

Where the mwn states if the 3772 wants to forgo the payment of the 771 for eating

72170, he cannot forgo and the 582> must make the restitution of W= m 17p -
- Ba535 12973 799 05 0IUN 19019 N9 PR NI N9 119

So since this 77N payment is an atonement, n92 cannot exempt the 77 from
payment on account of »'"2a%p —

Mmoo proves that 71N "MWn are 771937:
- PITUNM DAY S153 NN TV X9 PON PONR 9995 XYT NI RNT Y1

And you know that this is so (that 710 "m%wn are 71959) for according to the
one who does not derive the ¥"1 of 1OR 17OK and therefore does not exempt one
who is liable for w'' 792 71n°» from monetary payments (even) according to 7"217 —
- DYWUN INNN AN HMIN YIIN )9 ON
So why is the rule that one who eats Y1 n2yn is required to pay; why do we not
implement n"2%p -
= N5 1710 RXIN HI0ID NN NNNIY 119D 91999 T9Y NHT
Since according to this 7"7 it is not possible to argue that since w"7°2 70 does
not exempt him from m>wn (by regular 72170) the same applies to N2> (for eating

noo2 yan nnn) that it also does not exempt him from PY%wn; we cannot say this -
- 151:1‘.7): 0IVA N9V NI NN NNT

"' The question is why is there a difference between 72°¥n (where there is a w"7°2 7in" 21n1) and 7270 (where there is
also a w"7°2 0 21°n); that by 72°¥n we apply n"2%» when there is a n12 21’0 (if he are nos2 WP ymn), and he is 1w
Pwnn, however by nm1n there is a 1Pm2wn 211 even though there is a N3 20 (if he ate nooa ynn nan). Why s it
that by 72°¥n we say *23 X2 *23 X927 X2°71 993 °237 8277, but not by 7m17n?!
2 However wIpn mown are a compensation for the loss to w7p and are not 7793 (the 7793 is through the awK),
therefore n"2%p applies. See ‘Thinking it over’ # 2.
' a"a%p applies to monetary compensation where we do not punish him twice; however since 70 m>wn are a
7192, we do not want to take away his opportunity for a 7793.
' This refers to X271 (see footnote # 1).
'3 According to this (X27) 7", there is no »"27p by ¥"7°2 7N even according to 7"231.
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Since (according to this 7"n), w"7°2 71" does not exempt 1°217wn anywhere!
= NI 1995 DYLN THY DY NON

Rather perforce the reason for the payment by ynrn n»1n (according to X27) is
because the payment is a 71993, the same applies to »2x.

mooIn offers another explanation for the original question why 1052 WP yan 92187 is not 2yn:
1N90INA NYIYNA 19N Y9INT 161)2‘1‘1 NN YN NINT PNYY 13929 9N NI

And furthermore answers the >''1 that the X713 here, which states that according

to 17""217 one who is 2¥n X% o2 WP yan 9O, is according to the 3329 (who argue

with *27) and maintain that one who is 79122 w7pm2 ¥ transgresses a > but
there is no 1n» 2vn, therefore we have no precedent that there is no n"21%p by 772°vn.

SUMMARY

Regarding 177°v» even though there is no n"2%p for the n 211 (according to *27),
nevertheless there is a n"2%p regarding ynan (if nova wipn YW ynn 22X), however
regarding 70 there is no »"2%> even by nNI> since M0 MMPWN are T930.
Alternately (once there is no »"2%p by 0o there is no n"2%p by n13 either), we
follow the ruling of the 1127 that there is no n° 21 by 712 7.

THINKING IT OVER

1. When mooin writes regarding nosa wpn 2w yan 2287 that *23 %37 X271 (for the
w"2 0 by wIpn) and 93 8Y 93 ®97 X' (regarding the nnd for yam);'’ does
mooIn mean that we cannot derive a Mo of N1 (where »"2% would apply) from a
w5 of 1n (where n"2%p does not apply), but we could derive a 75 from another
0o (let’s assume 2170) from a w9 of 701 by WP (so if someone eats 7w 7170
vIpn he will be 2m), or does N®oIN mean only the Mwd of 7N by WwWpH is
excluded from n"2%p, but for any other in°», the M of n"12p would apply?'®

2. Why are only 7m0 *m1%wn considered a 711793 but not 712°¥n sm>wn?

' See footnote # 5 that the question is valid only if 7"237 agrees with °21 that 79°¥»2 717 is n"sa.
7 See footnote # 6.
'® See HxMw 727,
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